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TD 2
Principe fondamental de la dynamique

1 Isolement d’un solide – diagramme du corps libre

Exercice 1

(a) On considère la machine d’Atwood de la Fig. 1(gauche) : une
poulie sans masse est suspendue à un support fixe. Celle-ci relie
via un fil dont on néglige le poids deux masses ponctuelles m1

et m2. Déterminez respectivement les accélérations a1 et a2 des
masses m1 et m2, ainsi que la tension T dans le fil.

(b) On considère la machine d’Atwood de la Fig. 1(droite).
Déterminez les accélérations des trois masses ponctuelles m1,
m2, et m3.
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70 Using F = ma

• The mrθ̈ term is also quite intuitive. For circular motion, it states that F = ma along

the tangential direction, because rθ̈ is the second derivative of the distance rθ along the

circumference.

• The −mrθ̇2 term is also fairly clear. For circular motion, it says that the radial force

is −m(rθ̇)2/r = −mv2/r, which is the familiar force that causes the centripetal accel-

eration, v2/r. See Problem 3.20 for an alternate (and quicker) derivation of this v2/r
result.

• The 2mṙθ̇ term isn’t so obvious. It is associated with the Coriolis force. There are

various ways to look at this term. One is that it exists in order to keep angular momentum

conserved. We’ll have a great deal to say about the Coriolis force in Chapter 10.

Example (Circular pendulum): A mass hangs from a massless string of length
ℓ. Conditions have been set up so that the mass swings around in a horizontal circle,
with the string making a constant angle β with the vertical (see Fig. 3.9). What is the
angular frequency, ω, of this motion?
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Fig. 3.9

Solution: The mass travels in a circle, so the horizontal radial force must be
Fr = mrθ̇2 ≡ mrω2 (with r = ℓ sin β), directed radially inward. The forces on
the mass are the tension in the string, T , and gravity, mg (see Fig. 3.10). There is no
acceleration in the vertical direction, so F = ma in the vertical and radial directions
gives, respectively,

T cosβ − mg = 0,

T sin β = m(ℓ sin β)ω2.
(3.52)

Solving for ω gives

T

mg

b

Fig. 3.10

ω =
√

g
ℓ cosβ

. (3.53)

If β ≈ 90◦, then ω→∞, which makes sense. And if β ≈ 0, then ω ≈ √g/ℓ, which
happens to equal the frequency of a plane pendulum of length ℓ. The task of Exercise
3.60 is to explain why.

3.6 Problems

Section 3.2: Free-body diagrams

3.1. Atwood’s machine *
A massless pulley hangs from a fixed support. A massless string con-
necting two masses, m1 and m2, hangs over the pulley (see Fig. 3.11).
Find the acceleration of the masses and the tension in the string.

m1 m2

Fig. 3.11
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3.2. Double Atwood’s machine **
A double Atwood’s machine is shown in Fig. 3.12, with masses m1, m2,
and m3. Find the accelerations of the masses. m1

m2 m3

Fig. 3.12

3.3. Infinite Atwood’s machine ***
Consider the infinite Atwood’s machine shown in Fig. 3.13. A string
passes over each pulley, with one end attached to a mass and the other
end attached to another pulley. All the masses are equal to m, and all
the pulleys and strings are massless. The masses are held fixed and then
simultaneously released. What is the acceleration of the top mass? (You
may define this infinite system as follows. Consider it to be made of
N pulleys, with a nonzero mass replacing what would have been the
(N + 1)th pulley. Then take the limit as N →∞.)

3.4. Line of pulleys *
N +2 equal masses hang from a system of pulleys, as shown in Fig. 3.14.
What are the accelerations of all the masses?

m

m

m ...

Fig. 3.13

3.5. Ring of pulleys **
Consider the system of pulleys shown in Fig. 3.15. The string (which
is a loop with no ends) hangs over N fixed pulleys that circle around
the underside of a ring. N masses, m1, m2, . . . , mN , are attached to
N pulleys that hang on the string. What are the accelerations of all the
masses?

3.6. Sliding down a plane **

N=3

Fig. 3.14

(a) A block starts at rest and slides down a frictionless plane inclined
at an angle θ . What should θ be so that the block travels a given
horizontal distance in the minimum amount of time?

(b) Same question, but now let there be a coefficient of kinetic friction
µ between the block and the plane.

3.7. Sliding sideways on a plane ***
A block is placed on a plane inclined at an angle θ . The coefficient of
friction between the block and the plane is µ = tan θ . The block is given
a kick so that it initially moves with speed V horizontally along the plane
(that is, in the direction perpendicular to the direction pointing straight
down the plane). What is the speed of the block after a very long time?

3.8. Moving plane ***
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Fig. 3.15
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Fig. 3.16

A block of mass m is held motionless on a frictionless plane of mass
M and angle of inclination θ (see Fig. 3.16). The plane rests on a fric-
tionless horizontal surface. The block is released. What is the horizontal
acceleration of the plane?

Figure 1

Exercice 2

(a) Un bloc de masse m, initialement au repos, glisse le long d’un plan incliné faisant un angle θ
avec l’horizontale. On néglige toute force de friction entre le bloc et le plan incliné. Quelle
doit-être la valeur de θ de sorte que le bloc parcourt une distance horizontale donnée en un
minimum de temps ?

(b) Même question, en considérant maintenant qu’il existe une friction cinétique µ entre le bloc
et le plan incliné.

Exercice 3

Un bloc de masse m est maintenu immobile sur un plan incliné de
masse M et d’angle d’inclinaison θ (voir Fig. 2). Le plan incliné
est initialement au repos sur une surface horizontale. Dans la suite,
on néglige toutes forces de friction entre le bloc et le plan incliné,
et le plan incliné et la surface horizontale. On lâche alors le bloc.
Déterminez l’accélération horizontale du plan incliné.
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A block of mass m is held motionless on a frictionless plane of mass
M and angle of inclination θ (see Fig. 3.16). The plane rests on a fric-
tionless horizontal surface. The block is released. What is the horizontal
acceleration of the plane?

Figure 2

2 Résolution d’équations différentielles de base

Exercice 1

Une particule ponctuelle de masse m est soumise à une force F(t) = ma0 exp (−bt)x̂. Les condi-
tions initiales sont x(0) = 0 et ẋ(0) = 0. Déterminez x(t).

Exercice 2

Une particule ponctuelle de masse m est soumise à une force F(v) = −bv2 x̂. Les conditions
initiales sont x(0) = 0 et v(0) = v0. Déterminez x(t).

3 Mouvement d’un projectile

Exercice 1

Une particule ponctuelle de masse m est jetée en l’air avec une vitesse v à partir du niveau
du sol (supposé horizontal). Quel est l’angle entre v et l’horizontale pour lequel l’aire sous la
trajectoire est maximale ?
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Exercice 2

Sur la planète Gravitus, un projectile est lancé à t = 0 avec une vitesse v0 et un angle θ avec
l’horizontale. La planète Gravitus a des propriétés physiques assez étranges : l’accélération de
la pesanteur y augmente linéairement avec le temps, avec une valeur initiale nulle lorsque l’on
lance le projectile ! En d’autres termes, on a g(t) = βt, où β est une constante donnée. Quelle
distance horizontale le projectile parcourt-il ? Quel est l’angle θ qui maximise cette distance ?

Exercice 3

Un chasseur se situe à une distance horizontale ` d’un arbre, où un singe est suspendu à une
branche située à une altitude h du sol. A l’instant t = 0, le chasseur tire avec son fusil sur
le singe, en pointant son fusil directement vers le singe. Au même moment, le singe lâche la
branche, pensant pouvoir éviter la balle. Le singe a-t’il raison ?

4 Mouvement dans un plan – coordonnées polaires

Exercice 1

Quelle est la vitesse par rapport au centre de la Terre d’un satellite se trouvant juste au-dessus
de celle-ci et faisant un mouvement circulaire uniforme ? On donne g = 9.8 m/s2 l’accélération
de la pesanteur et R = 6400 km le rayon de la Terre (supposée être sphérique).

Exercice 2

On considère une particule ponctuelle soumise à une force tangentielle F = mṙθ̇ θ̂. Montrez que
ṙ =

√
A ln r +B, où A et B sont des constantes d’intégration déterminées par les conditions

initiales.

Exercice 3

(a) On considère un pendule simple constitué d’une masse ponctuellem et d’une tige inextensible
et sans masse de longueur `. Déterminez l’équation du mouvement et la résoudre dans la
limite des petits angles et en prenant comme conditions initiales une vitesse nulle et un angle
θ0 par rapport à la verticale. Déterminez également la tension de la tige dans cette limite.

(b) On remplace la tige de la question précédente par un ressort de constante de raideur k et
de longueur à l’équilibre r0. Déterminez les équations du mouvement.
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